

PROJECT: **W. Main Street Improvements Project**

OWNER: **City of Hartford**

BID OPENING: 02/24/2026 @ 10:00 am

No.	Description	Qty.	Unit	Harris ConAg LLC Bloomington, MI		Krohn Excavating LLC Bangor, MI		Hoffman Bros, Inc. Battle Creek, MI		Balkema Excavating, Inc. Kalamazoo, MI	
				Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
1	Mobilization, Max \$150,000	1	LSUM	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00
2	_Machine Grading Modified	34	Sta	750.00	25,500.00	4,800.00	163,200.00	2,251.00	76,534.00	1,470.00	49,980.00
3	Dr Structure, Rem	3	Ea	500.00	1,500.00	700.00	2,100.00	405.70	1,217.10	675.00	2,025.00
4	Curb and Gutter, Rem	1,070	Ft	12.00	12,840.00	7.00	7,490.00	9.15	9,790.50	10.50	11,235.00
5	Masonry and Conc Structure, Rem	10	Cyd	12.00	120.00	50.00	500.00	99.35	993.50	275.00	2,750.00
6	Pavt, Rem	15	Syd	15.00	225.00	25.00	375.00	26.45	396.75	10.00	150.00
7	Sidewalk, Rem	695	Syd	10.00	6,950.00	12.00	8,340.00	10.75	7,471.25	10.00	6,950.00
8	_Pavt, Rem, Modified	2,600	Syd	6.50	16,900.00	5.80	15,080.00	5.30	13,780.00	15.00	39,000.00
9	Subgrade Undercutting, Type II	1,500	Cyd	1.00	1,500.00	24.00	36,000.00	17.70	26,550.00	29.00	43,500.00
10	Flowable Fill, Non-Structural	20	Cyd	200.00	4,000.00	150.00	3,000.00	415.90	8,318.00	230.00	4,600.00
11	Erosion Control, Inlet Protection, Fabric Drop	34	Ea	175.00	5,950.00	110.00	3,740.00	91.50	3,111.00	110.00	3,740.00
12	Erosion Control, Silt Fence	500	Ft	3.00	1,500.00	3.00	1,500.00	2.20	1,100.00	3.00	1,500.00
13	Aggregate Base, 8 inch	15,300	Syd	10.25	156,825.00	12.00	183,600.00	8.30	126,990.00	14.00	214,200.00
14	Maintenance Gravel	5	Ton	35.00	175.00	50.00	250.00	27.70	138.50	24.00	120.00
15	Sewer, CI E, 12 inch, Tr Det B	100	Ft	85.00	8,500.00	77.00	7,700.00	75.05	7,505.00	75.00	7,500.00
16	Dr Structure Cover, Adj, Case 1	18	Ea	1,100.00	19,800.00	1,250.00	22,500.00	774.00	13,932.00	450.00	8,100.00
17	Dr Structure Cover, Type B	7	Ea	850.00	5,950.00	825.00	5,775.00	686.00	4,802.00	1,030.00	7,210.00
18	Dr Structure Cover, Type D	4	Ea	1,150.00	4,600.00	1,000.00	4,000.00	918.30	3,673.20	1,226.00	4,904.00
19	Dr Structure Cover, Type K	4	Ea	1,250.00	5,000.00	1,100.00	4,400.00	1,039.00	4,156.00	1,326.00	5,304.00
20	Dr Structure, 24 inch dia	1	Ea	2,300.00	2,300.00	2,430.00	2,430.00	2,129.00	2,129.00	1,607.00	1,607.00
21	Dr Structure, 48 inch dia	4	Ea	4,975.00	19,900.00	3,140.00	12,560.00	3,016.00	12,064.00	2,175.00	8,700.00
22	HMA Surface, Rem	13,565	Syd	3.75	50,868.75	1.30	17,634.50	2.30	31,199.50	3.00	40,695.00
23	Hand Patching	15	Ton	300.00	4,500.00	250.00	3,750.00	220.00	3,300.00	220.00	3,300.00
24	HMA Approach	20	Ton	170.00	3,400.00	180.00	3,600.00	162.60	3,252.00	163.00	3,260.00
25	HMA, 3EML	2,640	Ton	95.00	250,800.00	100.00	264,000.00	93.95	248,028.00	93.95	248,028.00
26	HMA, 4EML	1,765	Ton	97.00	171,205.00	100.00	176,500.00	94.10	166,086.50	94.10	166,086.50
27	HMA, 5EML	1,765	Ton	102.00	180,030.00	105.00	185,325.00	100.50	177,382.50	115.64	204,104.60
28	Driveway, Nonreinf Conc, 6 inch	255	Syd	63.00	16,065.00	73.00	18,615.00	69.15	17,633.25	72.00	18,360.00
29	Curb and Gutter, Conc, Det C4	1,070	Ft	31.00	33,170.00	38.00	40,660.00	35.60	38,092.00	36.00	38,520.00
30	Driveway Opening, Conc, Det M	100	Ft	31.00	3,100.00	40.00	4,000.00	34.70	3,470.00	36.00	3,600.00
31	Detectable Warning Surface	75	Ft	50.00	3,750.00	55.00	4,125.00	50.00	3,750.00	50.00	3,750.00



PROJECT: **W. Main Street Improvements Project**

OWNER: **City of Hartford**

BID OPENING: 02/24/2026 @ 10:00 am

No.	Description	Qty.	Unit	Harris ConAg LLC Bloomington, MI		Krohn Excavating LLC Bangor, MI		Hoffman Bros, Inc. Battle Creek, MI		Balkema Excavating, Inc. Kalamazoo, MI	
				Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
32	Curb Ramp Opening, Conc	125	Ft	\$31.00	\$3,875.00	\$38.00	\$4,750.00	\$34.70	\$4,337.50	\$36.00	\$4,500.00
33	Sidewalk, Conc, 4 inch	4,480	Sft	6.00	26,880.00	9.50	42,560.00	6.75	30,240.00	7.00	31,360.00
34	Sidewalk, Conc, 6 inch	325	Sft	7.00	2,275.00	10.75	3,493.75	7.75	2,518.75	8.00	2,600.00
35	Curb Ramp, Conc, 6 inch	1,280	Sft	7.00	8,960.00	10.50	13,440.00	7.90	10,112.00	8.00	10,240.00
36	Post, Mailbox	5	Ea	35.00	175.00	200.00	1,000.00	26.50	132.50	155.00	775.00
37	Post Hole Through Conc for Steel Post	11	Ea	100.00	1,100.00	110.00	1,210.00	55.00	605.00	100.00	1,100.00
38	Post, Steel, 3 pound	650	Ft	8.00	5,200.00	9.00	5,850.00	11.00	7,150.00	6.50	4,225.00
39	Sign, Type III, Erect, Salv	8	Ea	70.00	560.00	77.00	616.00	65.00	520.00	15.00	120.00
40	Sign, Type III, Rem	61	Ea	50.00	3,050.00	55.00	3,355.00	30.00	1,830.00	10.00	610.00
41	Sign, Type IIIA	180	Sft	19.00	3,420.00	22.00	3,960.00	21.00	3,780.00	17.00	3,060.00
42	Sign, Type IIIB	105	Sft	19.00	1,995.00	22.00	2,310.00	21.00	2,205.00	16.00	1,680.00
43	Ground Mtd Sign Support, Rem	37	Ea	50.00	1,850.00	50.00	1,850.00	40.00	1,480.00	15.00	555.00
44	Pavt Mrkg, Ovly Cold Plastic, 6 inch, Crosswalk	810	Ft	3.95	3,199.50	4.25	3,442.50	3.95	3,199.50	3.95	3,199.50
45	Pavt Mrkg, Ovly Cold Plastic, 12 inch, Crosswalk	195	Ft	7.00	1,365.00	7.50	1,462.50	7.00	1,365.00	7.00	1,365.00
46	Pavt Mrkg, Ovly Cold Plastic, 18 inch, Stop Bar	220	Ft	12.00	2,640.00	13.00	2,860.00	12.00	2,640.00	12.00	2,640.00
47	Pavt Mrkg, Ovly Cold Plastic, 24 inch, Stop Bar	90	Ft	16.00	1,440.00	18.00	1,620.00	16.00	1,440.00	16.00	1,440.00
48	Pavt Mrkg, Ovly Cold Plastic, Lt Turn Arrow Sym	4	Ea	285.00	1,140.00	315.00	1,260.00	285.00	1,140.00	285.00	1,140.00
49	Pavt Mrkg, Ovly Cold Plastic, Only	4	Ea	285.00	1,140.00	315.00	1,260.00	285.00	1,140.00	285.00	1,140.00
50	Pavt Mrkg, Ovly Cold Plastic, Railroad Sym	2	Ea	375.00	750.00	415.00	830.00	375.00	750.00	375.00	750.00
51	Pavt Mrkg, Ovly Cold Plastic, Thru and Rt Turn Arrow Sym	4	Ea	330.00	1,320.00	365.00	1,460.00	330.00	1,320.00	330.00	1,320.00
52	Pavt Mrkg, Polyurea, 4 inch, White	760	Ft	1.25	950.00	1.40	1,064.00	1.25	950.00	1.25	950.00
53	Pavt Mrkg, Polyurea, 4 inch, Yellow	5,670	Ft	1.25	7,087.50	1.40	7,938.00	1.25	7,087.50	1.25	7,087.50
54	Pavt Mrkg, Polyurea, 6 inch, White	1,205	Ft	1.45	1,747.25	1.60	1,928.00	1.45	1,747.25	1.45	1,747.25
55	Pavt Mrkg, Preformed Thermopl, Accessible Sym	4	Ea	500.00	2,000.00	550.00	2,200.00	500.00	2,000.00	500.00	2,000.00
56	Pavt Mrkg, Waterborne, for Rest Areas, Parks, and Lots, 4 in	65	Ft	5.00	325.00	5.50	357.50	5.00	325.00	5.00	325.00
57	Pavt Mrkg, Polyurea, Thru Arrow Sym	1	Ea	275.00	275.00	300.00	300.00	275.00	275.00	275.00	275.00
58	Recessing Pavt Mrkg, Longit	6,040	Ft	1.25	7,550.00	1.35	8,154.00	1.25	7,550.00	1.25	7,550.00
59	Pavt Mrkg, Polyurea, 6 inch, Cross Hatching, White	440	Ft	3.95	1,738.00	4.40	1,936.00	3.95	1,738.00	3.95	1,738.00
60	Pavt Mrkg, Waterborne, 12 inch, Yellow, Curb Painting	3,600	Ft	4.00	14,400.00	4.40	15,840.00	4.00	14,400.00	4.00	14,400.00
61	Barricade, Type III, High Intensity, Double Sided, Lighted, F	47	Ea	80.00	3,760.00	88.00	4,136.00	91.00	4,277.00	72.00	3,384.00
62	Barricade, Type III, High Intensity, Double Sided, Lighted, O	47	Ea	5.00	235.00	6.00	282.00	7.00	329.00	1.00	47.00

PROJECT: **W. Main Street Improvements Project**

OWNER: **City of Hartford**

BID OPENING: 02/24/2026 @ 10:00 am

No.	Description	Qty.	Unit	Harris ConAg LLC Bloomington, MI		Krohn Excavating LLC Bangor, MI		Hoffman Bros, Inc. Battle Creek, MI		Balkema Excavating, Inc. Kalamazoo, MI	
				Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
63	Pedestrian Type II Barricade, Temp	21	Ea	\$100.00	\$2,100.00	\$110.00	\$2,310.00	\$77.00	\$1,617.00	\$65.00	\$1,365.00
64	Channelizing Device, 42 inch, Fluorescent, Furn	50	Ea	20.00	1,000.00	22.00	1,100.00	22.40	1,120.00	19.00	950.00
65	Channelizing Device, 42 inch, Fluorescent, Oper	50	Ea	1.00	50.00	1.10	55.00	2.80	140.00	1.00	50.00
66	Minor Traf Devices	1	LSUM	31,950.00	31,950.00	43,600.00	43,600.00	399,482.20	399,482.20	57,873.00	57,873.00
67	Sign, Type B, Temp, Prismatic, Furn	1,110	Sft	3.00	3,330.00	3.30	3,663.00	4.50	4,995.00	3.00	3,330.00
68	Sign, Type B, Temp, Prismatic, Oper	1,110	Sft	1.00	1,110.00	1.10	1,221.00	0.28	310.80	0.25	277.50
69	Sign, Type B, Temp, Prismatic, Spec, Furn	690	Sft	8.00	5,520.00	8.80	6,072.00	4.60	3,174.00	4.00	2,760.00
70	Sign, Type B, Temp, Prismatic, Spec, Oper	690	Sft	1.00	690.00	1.10	759.00	0.28	193.20	0.25	172.50
71	_Restoration	1	LSUM	36,000.00	36,000.00	15,000.00	15,000.00	12,740.00	12,740.00	25,000.00	25,000.00
72	Conduit, DB, 1, 1 1/2 inch	105	Ft	16.00	1,680.00	20.00	2,100.00	17.50	1,837.50	17.50	1,837.50
73	Hh, Adj	4	Ea	123.00	492.00	150.00	600.00	123.00	492.00	123.00	492.00
74	Pedestal, Fdn	8	Ea	1,232.00	9,856.00	1,450.00	11,600.00	1,233.00	9,864.00	1,232.50	9,860.00
75	Pedestal Fdn, Rem	1	Ea	170.00	170.00	200.00	200.00	170.00	170.00	170.00	170.00
76	Pedestal, Pushbutton, Alum	8	Ea	690.00	5,520.00	800.00	6,400.00	690.00	5,520.00	690.00	5,520.00
77	Pedestal, Pushbutton, Rem	1	Ea	70.00	70.00	75.00	75.00	70.00	70.00	70.00	70.00
78	Pushbutton, Rem	8	Ea	48.00	384.00	50.00	400.00	48.00	384.00	55.25	442.00
79	Push Button Station and Sign	8	Ea	1,336.00	10,688.00	1,550.00	12,400.00	1,336.00	10,688.00	1,336.00	10,688.00
80	Pedestrian Signal System, Accessible	1	Ea	7,200.00	7,200.00	8,300.00	8,300.00	7,200.00	7,200.00	7,200.00	7,200.00
81	Pedestrian Signal System, Accessible, Rem	1	Ea	317.00	317.00	350.00	350.00	317.00	317.00	317.00	317.00
82	Gate Valve and Box, 6 inch	1	Ea	2,750.00	2,750.00	1,988.00	1,988.00	2,066.00	2,066.00	2,931.00	2,931.00
83	Gate Valve and Box, 8 inch	5	Ea	3,250.00	16,250.00	2,659.00	13,295.00	2,733.00	13,665.00	3,677.00	18,385.00
84	Gate Valve and Box, 12 inch	13	Ea	4,975.00	64,675.00	4,208.00	54,704.00	4,466.00	58,058.00	5,224.00	67,912.00
85	Hydrant, Rem	5	Ea	500.00	2,500.00	700.00	3,500.00	980.10	4,900.50	757.60	3,788.00
86	_Copper Water Service Pipe, 1 inch	565	Ft	28.75	16,243.75	34.50	19,492.50	48.60	27,459.00	32.00	18,080.00
87	_Steel Casing Pipe, 24 inch, Jacked in Place	115	Ft	800.00	92,000.00	1,143.00	131,445.00	1,213.00	139,495.00	1,022.00	117,530.00
88	_Water Main, DI, 12 inch, In Casing	115	Ft	125.00	14,375.00	120.00	13,800.00	156.50	17,997.50	85.00	9,775.00
89	_Water Main, DI, 12 inch, Tr Det G, Modified	2,300	Ft	114.00	262,200.00	112.00	257,600.00	102.50	235,750.00	190.00	437,000.00
90	_Water Main, DI, 4 inch, Tr Det G, Modified	10	Ft	71.25	712.50	133.00	1,330.00	177.40	1,774.00	240.00	2,400.00
91	_Water Main, DI, 6 inch, Tr Det G, Modified	225	Ft	72.00	16,200.00	104.00	23,400.00	133.50	30,037.50	175.00	39,375.00
92	_Water Main, DI, 8 inch, Tr Det G, Modified	210	Ft	79.50	16,695.00	112.00	23,520.00	112.60	23,646.00	128.00	26,880.00
93	_Insulation Board, 2 inch	1,550	Sft	2.50	3,875.00	6.50	10,075.00	5.85	9,067.50	5.00	7,750.00

PROJECT: **W. Main Street Improvements Project**

OWNER: **City of Hartford**

BID OPENING: 02/24/2026 @ 10:00 am

No.	Description	Qty.	Unit	Harris ConAg LLC Bloomington, MI		Krohn Excavating LLC Bangor, MI		Hoffman Bros, Inc. Battle Creek, MI		Balkema Excavating, Inc. Kalamazoo, MI	
				Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
94	_Building Reconnection, Basement	1	Ea	\$2,500.00	\$2,500.00	\$1,650.00	\$1,650.00	\$3,007.00	\$3,007.00	\$1,000.00	\$1,000.00
95	_Building Reconnection, Crawl Space	1	Ea	2,500.00	2,500.00	1,650.00	1,650.00	4,007.00	4,007.00	1,000.00	1,000.00
96	_Building Reconnection, Slab	1	Ea	4,500.00	4,500.00	1,650.00	1,650.00	4,726.00	4,726.00	1,000.00	1,000.00
97	_Connect to Existing Main, 12 inch	3	Ea	4,800.00	14,400.00	3,000.00	9,000.00	3,926.00	11,778.00	6,401.00	19,203.00
98	_Connect to Existing Main, 4 inch	2	Ea	3,000.00	6,000.00	2,800.00	5,600.00	2,564.00	5,128.00	5,349.00	10,698.00
99	_Connect to Existing Main, 6 inch	2	Ea	3,200.00	6,400.00	2,800.00	5,600.00	2,655.00	5,310.00	5,439.00	10,878.00
100	_Connect to Existing Main, 8 inch	4	Ea	4,000.00	16,000.00	3,000.00	12,000.00	3,510.00	14,040.00	5,610.00	22,440.00
101	_Hydrant, Valve and Box, 6 inch	5	Ea	4,800.00	24,000.00	5,505.00	27,525.00	7,435.00	37,175.00	3,988.00	19,940.00
102	_Water Main Line Stop, 12 inch	3	Ea	2,100.00	6,300.00	9,800.00	29,400.00	10,170.00	30,510.00	10,302.00	30,906.00
103	_Water Main Line Stop, 4 inch	3	Ea	1,500.00	4,500.00	7,500.00	22,500.00	6,369.00	19,107.00	8,443.00	25,329.00
104	_Water Main Line Stop, 6 inch	2	Ea	1,750.00	3,500.00	7,700.00	15,400.00	6,669.00	13,338.00	8,066.00	16,132.00
105	_Water Main Line Stop, 8 inch	7	Ea	1,850.00	12,950.00	8,000.00	56,000.00	7,169.00	50,183.00	7,577.00	53,039.00
106	_Water Main, 6 inch, Cut and Plug, Modified	2	Ea	1,600.00	3,200.00	1,365.00	2,730.00	567.50	1,135.00	875.00	1,750.00
107	_Water Main, 8 inch, Cut and Plug, Modified	2	Ea	2,200.00	4,400.00	1,365.00	2,730.00	647.80	1,295.60	940.00	1,880.00
108	_Water Service, 1 inch	14	Ea	1,650.00	23,100.00	1,680.00	23,520.00	697.60	9,766.40	1,832.00	25,648.00
109	Sanitary Sewer, PVC, 8 inch, Tr Det B2	305	Ft	94.00	28,670.00	55.00	16,775.00	64.60	19,703.00	120.00	36,600.00
110	Sanitary Structure Cover, Type Q	9	Ea	800.00	7,200.00	850.00	7,650.00	563.90	5,075.10	1,245.00	11,205.00
111	Sanitary Structure, Rem	4	Ea	500.00	2,000.00	750.00	3,000.00	192.10	768.40	757.00	3,028.00
112	_Sanitary Sewer, Serv Lead, PVC, 6 inch	155	Ft	72.00	11,160.00	65.00	10,075.00	54.65	8,470.75	92.00	14,260.00
113	_Sanitary Manhole, 48 inch dia	4	Ea	4,600.00	18,400.00	4,050.00	16,200.00	3,231.00	12,924.00	3,413.00	13,652.00
114	_Sanitary Wye, 8 inch by 6 inch	5	Ea	250.00	1,250.00	1,100.00	5,500.00	258.10	1,290.50	2,778.00	13,890.00
115	_Compact Ductile Iron Fittings	4,820	Lb	7.25	34,945.00	9.00	43,380.00	6.55	31,571.00	10.55	50,851.00
116	_Railroad Protection, at Grade Crossing	20,000	Dlr	1.00	20,000.00	1.00	20,000.00	1.00	20,000.00	1.00	20,000.00
<b>Total Base Bid</b>					<b>\$2,163,804.25</b>		<b>\$2,505,364.25</b>		<b>\$2,619,969.00</b>		<b>\$2,700,611.85</b>
<b>Alternate 1</b>											
117	Video Traf Detection System	1	Ea	\$55,652.50	\$55,652.50	\$49,000.00	\$49,000.00	\$44,520.00	\$44,520.00	\$46,750.00	\$46,750.00
118	Video Traf Detection System, Rem	1	Ea	1,000.00	1,000.00	600.00	600.00	511.00	511.00	600.00	600.00
<b>Total Alternate 1 Bid</b>					<b>\$56,652.50</b>		<b>\$49,600.00</b>		<b>\$45,031.00</b>		<b>\$47,350.00</b>
<b>Total Base Bid + Alternate 1</b>					<b>\$2,220,456.75</b>		<b>\$2,554,964.25</b>		<b>\$2,665,000.00</b>		<b>\$2,747,961.85</b>

Error in calculation but was fixed.

